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I 1 [rwfm = FliE X B X (BTIER + RIEE + SR + BEER)
6.463 m3 = 0.550 * 0.670 * (17.540 + 0.000 + 0.000 + 0.000)
) 2 |[EmidE = ((GRaEl X BER) - Fme) X (ETER + fiBER) + GRaER X B X (RifER + SUHRTER))
7.156 m3 = (((0.550 * 0.760) - 0.010) * (17.540 + 0.000)) + (0.550 * 0.760 * (0.000 + 0.000))
EIEEAE I [Bom = (GEFIE - i) X fEFBER) + (F@iE X (ETER + RIBER + stk + MEER))
9.647 m2 = ((0.000 — 0.550) * 0.000) + (0.550 * (17.540 + 0.000 + 0.000 + 0.000))
AR I [BdE = (GEFIE - i) X MFER) + (F@E X (ETER + KRtk + REER + MEER))
9.647 m2 = ((0.000 - 0.550) * 0.000) + (0.550 * (17.540 + 0.000 + 0.000 + 0.000))
AR 2 [ = (GlERE - Ml X EFER) + (FdiE X (ETER + KRBk + gtk + MEER))
9.647 m2 = ((0.000 — 0.550) * 0.000) + (0.550 * (17.540 + 0.000 + 0.000 + 0.000))
AL R L 1 [BdE = (GEFIE - SmiE) X EA X fFEER) + (R@E X BEa X (ETER + [RER + TR + fEER))

2.990 m3 = ((0.000 — 0.550) * 0.310 * 0.000) + (0.550 * 0.310 * (17.540 + 0.000 + 0.000 + 0.000))

T A KGE R




T I % E fEE (F & %)
REEEESES . 21002300[ M #)HEHE]
IEES 29 | IEEH [P 150K ZAKERETH [ W-FEE [ o4 | I—FE#H [HZCHBHDER
JE R J& #m AL #m S 3 "R
AL R L 2 [ = (GlERIE - rmihg) X R4 X fEFEER) + (((FElE X J2EA) - Bme) X LTIER) + (FElE X EA X (RIBER + BiEEk + MEER))
3.709 m3 = ((0.000 - 0.550) * 0.430 * 0.000) + (((0.550 * 0.430) - 0.025) * 17.540) + (0.550 * 0.430 * (0.000 + 0.000 + 0.000))
B FHOR L 1 (B = (FEFEE X B - (REREHIEER X ZERER)) X MFRERk + (FaREEFEE X ER) X (ETER + [MER + AEE + fEER)
4.341 m3 = ((0.000 * 0.000) - (0.550 * 0.000)) * 0.000 + ((0.550 * 0.450) * (17.540 + 0.000 + 0.000 + 0.000))
RN IR = 1 [EhEEHIEGE = (EFIE - SEiE) X B X EFER) + (Rl X B X (ETEE + Rtk + gtk + MEER))
(REEF ) 0.482 m3 = ((0.000 - 0.550) * 0.050 * 0.000) + (0.550 * 0.050 * (17.540 + 0.000 + 0.000 + 0.000))
RN 1 (B = ShimH s e L
(RREEFR ) 0.482 m3 = 0.482
RN L [Bde = WA UE LR
GRAD 6.463 m3 = 6.463
RN 2 |HdE = EHIEE LR
GRHAD 7.156 m3 = 7. 156
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T I % BE MM EE (K B )

REEEESES . 21002300[ M #)HEHE]
IEES 29 | IEEH [P 150K ZAKERETH [ W=FFES T 05 | I—FEF [OEGED
JE R J& #m AL #m S 3 "R
I 1 [r@m = g X B X (BTIER + KRiEE + Rtk + MEER)
1.959 m3 = 1.500 * 0.650 * (2.010 + 0.000 + 0.000 + 0.000)
) 2 |[EmikdE = ((GRaEl X BER) - Fme) X (ETER + fiBER) + GRaEE X B X (RifER + SUHRTER))
1.698 m3 = (((1.500 * 0.580) — 0.025) * (2.010 + 0.000)) + (1.500 * 0.580 * (0.000 + 0.000))
AL R L I [Bdm = (GEFIE - FmiE) X JEA X R R) + (F@lE X B2 X (ETER + [RIGER + RAER + fEEk))
1.959 m3 = ((0.000 - 1.500) * 0.650 * 0.000) + (1.500 * 0.650 * (2.010 + 0.000 + 0.000 + 0.000))
AL R L 2 [HdE = (R - Sl X 24 X fEFEER) + (((FElE X JBER) - Bme) X LTER) + (FElE X BEA X (Rt + gtk + MEER))
1.095 m3 = ((0.000 — 1.500) * 0.380 * 0.000) + (((1.500 * 0.380) — 0.025) * 2.010) + (1.500 * 0.380 * (0.000 + 0.000 + 0.000))
RN IR 2 |HdE = EHEE LR
GRAD 1.698 m3 = 1.698
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T I % BE MM EE (K B )

REEEESES . 21002300[ M #)HEHE]
IEES [ 29 | T@&%H [P 150K ZAKERETH [ W=FFES T 06 | IL—FEF [&EGH
JE R J& #m AL #m S 3 "R
i ) e I (B = (BT3ER + RV R + RIBER + fER) + (GEFEENE - S@imiiie) X MEFEEiE)) X GkrEE
10.000 m = ((5.000 + 0.000 + 0.000 + 0.000) + ((0.000 ~ 1.000) * 0.000)) * 2.000
[E S I [BdE = (GEFIE - i) X MFER) + (F@E X (ETER + KRtk + REER + MEER))
5.000 m2 = ((0.000 - 1.000) * 0.000) + (1.000 * (5.000 + 0.000 + 0.000 + 0.000))
I I [rwm = ((CRdig X 2720 - B X (ETER + fEER)) + (F@E X B X (RiEER + RiETER))
7.150 m3 = (((1.000 * 1.440) - 0.010) * (5.000 + 0.000)) + (1.000 * 1.440 * (0.000 + 0.000))
EESEE I [Bd = (GEFIE - i) X MFER) + (F@E X (ETER + KRtk + BBtk + MEER))
5.000 m2 = ((0.000 - 1.000) * 0.000) + (1.000 * (5.000 + 0.000 + 0.000 + 0.000))
BRARIE IR I [Bom = (GEFIE - i) X fEFBER) + (F@iE X (ETER + RIBER + stk + MEER))
5.000 m2 = ((0.000 — 1.000) * 0.000) + (1.000 * (5.000 + 0.000 + 0.000 + 0.000))
AL R L 1 (B = (GEFIE - i) X A X fFER) + (((FaE X BER) - BFme) X LTER) + (F@lE X B X (RitER + gtk + MEER))
6.400 m3 = ((0.000 - 1.000) * 1.290 * 0.000) + (((1.000 * 1.290) - 0.010) * 5.000) + (1.000 * 1.290 * (0.000 + 0.000 + 0.000))
RN IR 1 [EhEEHIEGE = (REFIE - SEiE) X B X EFER) + (Rl X B X (ETEE + RiBek + gtk + MEER))
(RREEF ) 0.200 m3 = ((0.000 - 1.000) * 0.040 * 0.000) + (1.000 * 0.040 * (5.000 + 0.000 + 0.000 + 0.000))
RN 1 [Bd = ShimH s e L
(RREEF ) 0.200 m3 = 0.200
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B BEEES . 21002300 [LHREHE] tITREHEE (HEZR)
[ TaEs | 20 | Tash [ 0ARKEAELSH [ 82 | 06 | L-Fah [FRGD
TR G FOm L W 7 i B X
R IATT T B = WRTR e L
() 7.150 m3 = 7.150
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* H EHEE (7 %)
BIEEEES - 21002300[ L EREHE]
[ TAES | %0 | Taah  |[REAERLIS [ —F&= [ ol | —Fah [AEEGE
i G B L W S #F B X
] T | - AN T

795.487 m2 = 795.487 - 0.000

AR

Bl = AEIRHE - A

795.487 m2 = 795.487 - 0.000

RN 1 AR = ORMEINmR - (T smma) X B
[ EERIN 31.819 m3 = (795.487 — 0.000) * 0.040

RN 1B = SEEmEl e L

(Bl 2L 3 H) 31.819 m3 = 31.819
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* B M E E (B %)
BEHBWEES . 21002300 LHREHE]
[ _Tass [ 0 | Ta%h  [FErEnIs [ —FEE | 02 | I-FaH [AEECETE
TR G B R W 7 & B X
R T B = ARG R

225.035 m2 = 225.035 - 0.000

AR

Bl = AEIRHE - A

225.035 m2 = 225.035 - 0.000

RN 1 AR = ORMEINmR - (T smma) X B
[ EERIN 11.251 m3 = (225.035 — 0.000) * 0.050

RN 1B = SEEmEl e L

(Bl 2L 3 H) 11. 251 m3 = 11.251
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* H EHEE (7 %)
BIEEEES - 21002300[ L EREHE]
[ TAES | %0 | Taah  |[REAERLIS [ -85 [ & [ I-15% [FABGORTE
i G B L W S #F B X
] T | - AN T

21.893 m2 = 21.893 - 0.000

AR

Bl = AEIRHE - A

21.893 m2 = 21.893 — 0.000

RN 1 AR = ORMEINmR - (T smma) X B
[ EERIN 1.094 m3 = (21.893 — 0.000) * 0.050

RN 1B = SEEmEl e L

(Bl 2L 3 H) 1.094 m3 = 1.094
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R1. TR {EIER

KIRDIFE-~Ti& i e = x x x
R R . 76;
1 1 1 1 ® » ) b
# m & & A = &
W ® o 2 = i i B Z =
| o & E # i
5 = Y 0 5 i f#%
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(m) (m) (t/m-#) (m) (#) (t) (M=) (t) (/) (m)
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KiEH
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